Ve

~

Easy to install Easy to install

1

(a) For irregular-backed TVs
BEBRTARUEREBN
TEEINY & TL—2FL E~OER
Fir TVs mit unregelmaRigem Ricken

Pour les téléviseurs a dos irrégulier
Per i televisori posteriori irregolari
Para los televisores traseros irregulares

OR
(M-J FEIM-J B

(b) For flat-backed TVs
ERTFRENR
77y hFLER
Fur Flache TVs

Pour les téléviseurs a dos plat
Per i televisori a schermo piatto
Para los televisores de pantalla plana

Ve

2

®

—~F—1mm-3

Don't tighten the screw

TEITRIZY

RIEBHTLIEEND

Ziehen Sie die Schrauben nichtan
Non serrare le viti

No apriete los tornillos

X

~

®x8
A
L
M8x45 M8
@xs ®x1 0
M5x16 M8x12
@x4 GXS
Wity ——
M8x35 d16xP8.5x1.0
©x1 %
(10mm)
5mm (13mm) (14mm) Cable Strap x2 x4 Iﬁ?,'f i'f,if'uuéle.ﬂ
Easy to install
3 ®

What's in the box What's in the box Accessories for installing TV

Vs

~

N x4

| M-B b

M4x30

| M-C b

@

M6x14

M6x30

RS x4

(@

M8x20

Ul

(@

M8x45

V-G b

D12x35.2x1

IR 4

J16xa8.2x1

I x4

15x38.0x5

I x4

&

B15x28.0x15

4




Easy to install
S

=

X
)

Tighten the screws
iRy

=

=

V% LDWEED TLIZEL

Ziehen Sie die Schrauben an

% (5mm)

Easy to install

(14mm)

9

Easy to install Easy to install Easy to install
6 7 8

=

=
=

E =
4,47)/,4

5

(13mm) (14mm)

(5mm)




